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QUESTION 1

Given: 

Which is true? 

A. The code compiles but does not print any result. 

B. The code prints 25. 

C. The code does not compile. 

D. The code throws an exception at runtime. 

Correct Answer: C 

 

QUESTION 2

Given: 
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Which two allow a.Main to allocate a new Person? (Choose two.) 

A. In Line 1, change the access modifier to private private Person() { 

B. In Line 1, change the access modifier to public public Person() { 

C. In Line 2, add extends Person to the Main class public class Main extends Person { and change Line 3 to create a
new Main object Person person = new Main(); 

D. In Line 2, change the access modifier to protected protected class Main { 

E. In Line 1, remove the access modifier Person() { 

Correct Answer: CE 

 

QUESTION 3

Given: 

Which expression when added at line 1 will produce the output of 1.17? 

A. float z = (float)(Math.round((float)x/y*100)/100); 

B. float z = Math.round((int)(x/y),2); 

C. float z = Math.round((float)x/y,2); 

D. float z = Math.round((float)x/y*100)/(float)100; 

Correct Answer: D 
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QUESTION 4

Which two describe reasons to modularize the JDK? (Choose two.) 

A. easier to understand the Java language 

B. improves security and maintainability 

C. easier to expose implementation details 

D. improves application robustness 

E. easier to build a custom runtime linking application modules and JDK modules 

Correct Answer: BD 

 

QUESTION 5

Given: 

Why does D cause a compilation error? 

A. D inherits a() only from C. 

B. D inherits a() from B and C but the return types are incompatible. 

C. D extends more than one interface. 

D. D does not define any method. 

Correct Answer: D 
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